
算数

1,

A,

2,

A,

3,

A,

4,

A,

5,

A,

四則演算　No.1

（□には全て同じ数が入ります）

6.875 −                      −3
2

3
÷ 1.125 × 4.5 =

13

24

2
3

7
− 20.25 −                       ×

3

4
÷

16

5
=

31

56

              ×                  +                  +                  = 323

1.3 − 0.45 × 0.625 +                       +5
1

4
÷ 8 = 1

3

4

7
1

3
÷ 121 ×                      +

3

25
=

5

66



算数 四則演算　No.1　解答編

1,

A,

2,

A, 19

3,

A, 17

4,

A,

5,

A,     1.13

7
1

3
÷ 121 ×                      +

3

25
=

5

66

1.3 − 0.45 × 0.625 +                       +5
1

4
÷ 8 = 1

3

4

2
3

7
− 20.25 −                       ×

3

4
÷

16

5
=

31

56

6.875 −                      −3
2

3
÷ 1.125 × 4.5 =

13

24

（□には全て同じ数が入ります）              ×                  +                  +                  = 323

4
2

3

4
1

2


